
  

Cálculo de tiempos de ejecución (ciclos) 
(1) vs. (3) y (2) vs. (4)

;asmsyntax=asm68k
CPU 68000

ORG $3000
STRUCT DC.L ARRAY

DC.W 2
DS.W 1

ORG $1000
PROG MOVE.L STRUCT,A0 ; (1)

MOVE.W STRUCT+4,D0 ; (1)
MULU #2,D0 ; (2)
MOVE.W (A0,D0.W),STRUCT+6 ; (1)
TRAP #15
DC.W 0

ORG $3150
ARRAY DC.W 34,2,4,343,23,45,67,65

$1000

                           ...
$3000

$3150 34 2
4 343
2 45
67 65

PROGRAMA

$3150

2
-----

A0: $3150   

;asmsyntax=asm68k
CPU 68000

ORG $3000
STRUCT DC.L ARRAY

DC.W 2
DS.W 1

INDICE EQU 4
RESULT EQU 6

ORG $1000
PROG LEA STRUCT,A0 ; (3)

MOVE.L (A0),A1 ; (3)
MOVE.W INDICE4(A0),D0 ; (3)
LSL.W #1,D0 ; (4)
MOVE.W (A1,D0.W),RESULT(A0) ; (3)
TRAP #15
DC.W 0

ORG $3150
ARRAY DC.W    34,2,4,343,23,45,67,65

$1000

                           ...
$3000

$3150 34 2
4 343
2 45
67 65

PROGRAMA

$3150

2
-----

A1: $3150 

A0: $3000

(*) MODO LOOP --> INTEL / MOTOROLA
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https://archive.org/details/byte-magazine?sort=-date


  



  



  


